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BACHELOR'S DEGREE PROGRAMME (BDP) 
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Term-End Examination 

June, 2019 

(APPLICATION ORIENTED COURSE) 

AEC-001 : ENVIRONMENTAL CHEMISTRY 

Time : 3 hours 	 Maximum Marks : 100 

Note : (0 Answer all questions. 

(ii) The marks for each question are given agains it. 

1. 	(a) Fill in the blanks in any five of the following 
statements : 	 1x5=5 

(i) The element 	 is associated 
with the greenness of plants. 

(ii) Density of ice is 	 than that 
of water due to caged tetrahedral 
structure of ice. 

Concentration of pollutants 	 
with increase in wind speed. 

(iv) VOC stands for 	 

(v) DDT is used as 	 

(vi) The metal associated with Minamata 
disease is 	 
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(b) Define any five of the following : 	1x5=5 

(i) Pesticides 

(ii) Chromatogram 

(iii) Salinity 
(iv) Water quality criteria 

(v) Eutrophication 

(vi) Chemical oxygen demand 

(c) Answer any five of the following : 	2x5=10 

(i) What is the significance of the soil 

colour ? 
(ii) Why nematodes are agriculturally 

very important ? 

(iii) What is the law of diminishing 

return ? 
(iv) State the difference between reverse 

osmoses and electrodialysis. 

(v) State the difference between aerobic 
and anaerobic bacteria. 

(vi) What is an API oil separator ? 

2. 	Answer any four of the following : 	 5x4=20 
(a) Describe soil horizon and explain their 

importance in determining the properties of 

soil. 
(b) What is the effect of ozone layer depletion 

on ? 
(i) Water animals and plants 

(ii) Human health 
(c) What are heavy metals ? What are the toxic 

aspects of these metals ? 
(d) What is the effective stack height ? How 

does it affect the down wash of pollutants ? 
(e) Describe biological treatment method for 

industrial effluents. 
(f) Compare flame emission and atomic 

absorption spectro photometry with respect 

to instrumentation. 
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3. 	Answer any four of the following : 	 5x4=20 
(a) What are the characteristics and main 

constituents of fernery effluents ? 

(b) What is the impact of urbanisation on 
relative humidity and pollutants ? 

(c) What is the best method used for CO 
Analysis ? Describe in brief. 

(d) What is Integrated Pest Management ? 
What are its advantages over conventional 
method of Pest Control ? 

(e) What is acid rain ? List the substances that 
cause acid rain. 

(f) What is the theory of sampling ? Name the 
three important factors in sampling 
process ? 

4. 	Answer any four of the following : 	 5x4=20 
(a) Explain the principle of paper 

chromatography. What are the properties 
of good adsorbent and chromatogram ? 

(b) Explain the complexometric titration. What 
is the role of EDTA and buffer in these 
titrations ? 

(c) What are the major contaminants of waste 
water from refineries and petrochemical 
industries ? 

(d) Describe Lagooning and storage of textile 
industry effluents. 

(e) What are the important parameters for the 
characterization of sewage. 

(f) What is Lambert-Beer's Law ? List four 
different causes for deviation from Lambert-
Beer's Law. 
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5. 	Answer any four of the following : 
	

5x4=20 

(a) What are the three categories of natural 
water ? Which one is of good quality and 
negligible microbial content ? 

(b) How are soils characterized ? Write the 
factors that affect the numbers and kinds 
of microorganisms in soil. 

(c) Distinguish between mechanical and 
thermal turbulence. 

(d) What is the effect of ambient temperature 
on plume rise ? 

(e) A person sleeping in a closed room with 
burning coal left for heating the room may 
encounter asphyxiation leading to death. 
Explain. 

Differentiate mist, smoke, fumes and dust 
from one another. 

(f) 
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